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78%
7.2.3

7.1
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75
77 12
” B:H
15
2 5
P(C)
1 12
3

P(B)

P(B)

Q= } n=3 P
Q
} n=4 P =2/4=05
2
71
P(A) = ﬂ =4 A
n
9 3 5
” C :H ”
P(A) P(B) P(C)
cs, A
2 3 c? 3
(o A cic
23 7
P(A)=—2>=—-=0318
s 22
11 5 ” CZ
5 _ 5 7
P(B)=———=1-—=0.841
C12
C 13 2 ” 13
CZc3 +C3c2
PC)=—""""—" =4 -03m
o] 11
A B C 5
P(A)=0.318 P(B)=0.841 P(C)=0.364

7.1

A —

:]/3

7.5

P(A)
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5 g
724
6
7.1
7.1 m
0.7 0.7
100 70
7-1
0.5
0.5
7-1
N M M/N
4040 2048 0.506 9
12 000 6019 0.5016
24,000 12012 0.500 5
30000 14 994 0.4998
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M/N A

7.6

0.7
0.7

0.5

90%

M
P(A) =lim -

0.7

0.7
70%

N

7.6

0.7

0.9

A
7.6
60%"
70%
0.7
0.5
0.1

7.6
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7.3

7.3.1
A B A
P(B|A) P(B)
P(B| A A A
m B
7.5
P(B|A) = e
mA
p(B)=m /n 7.7
n
_ P(AB)
P(B|A) = P(A)
7.7 7.8
7.8 0.9
A= B=" " P(A)=09
P(AB) =0.72
BOA AB=B P(AB)=0.72
P(B|A) 7.8
P(BlA) :@ :%:0.8
P(A) ~ 09
80%
7.3.2
7.8
P(AB)=P(A)P(B|A) P(A)>0
A B
P(AB) =P(B)P(A|B) P(B)>0
7.9 7.10

m
7.7
7.8
P(A) >0
0.72
P(B)=0.72
7.9
7.10

P(ABC)=
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P(A)P(BC|A)

P(ABC) = P(A)P(B| AP(C|AB)  P(AB)>0 7.11
7.9 52 13 3
1 3
2 2 3
1 A= i " =123 3 A.A LA
P(AAA) 7.11
P(AAA)=P(A)P(A | A)P(A [AA) =;—§xgx%:0.01294
1.7 P(A |AA)
3 3 50 1
11/50 “ " “ oo 7.7
_C3 _13x12x11 _
P(AAA) = o " 52x51x50 0.01294

2 P(AAA)

P(AAR) = P(A)P(A, | A)P(A, | AA) =£;—21% - 0.04588

) , .
2
P(B) = 053(3:;9 _13x12x39x3
C., 52x51x50
B=AAA +AAA +AAA 3 3
P(AAA) :%P(B) = 5152221222 = 0.04588
7.33
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A B

P(B|A)=P(B) P(A|B)=P(A 7.12
P(AB) = P(A)P(B) 7.13
7.13
7.13 7.9 7.10 7.12 7.13 A
7.13
A B A B
A B A B
7.13 3 A B C
7.11
P(ABC) = P(A)P(B)P(C) 7.14
A B 7.2
P(A+ B) = P(A) + P(B) - P(A)P(B)
7.10 0.9
0.8
A= " B= ” P(A+B)
A B P(A)=09 P(B)=038

P(A+B) = P(A) + P(B) - P(AB) =0.9+0.8—0.9x0.8=0.98

7.9
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711 3 09 08 08

A B C 3 P(A)=09 P(B)=0.8
P(C)=0.8 1 A+B+C ABC 3
3 A B C
P(A+B+C)=1-P(ABC) =1- P(A)P(B)P(C) 1-0.9x 0.8x 0.8 0.434
80%
43.4%
A B C 7.4
A+B+C 7

P(A >0 P(B)>0

A A A B A B
O—E:l—o P(AB)=0 P(AB)=P(A)P(B)
A A,
' 7.12 4 7-2
7-2
O<r<1 7-2
A (i=1,2,3,4) 4 P(A)=r (i=1,2,3,4)
-2 AA+AA 4
P(AA +AA)=P(AA)+P(AA)-P(AAAA)
=P(A)P(A) +P(A)P(A) - P(A)P(A)P(A)P(A)
=r2+r2-r*=r?2-r?
734
1

7-3 Q 4 ALALALA, B



P(B) = P(A B) + P(A,B) + P(A,B) + P(A,B)

=P(A)P(BIA) +P(A,)P(BIA)
+P(A)P(B|A)+P(A,)P(B| A)

B A AL A
Q n A AL, 3
A P(A)>0 (i =1,2,0Lh) A+A +L
+A =Q
P(B) = Z P(A)P(BIA,) 715
7.15 _n =2
P(B) = P(A)P(B| A) + P(A)P(B| A) 7.16
P(B) 715  7.16
7.13 10 5 3 2
0.1 007 0.05 10
B= A
A,= A " P(A)=05 P(A,)=03 P(A,)=02

P(B|A)=1-01=09 P(B|A)=093 P(B|A)=095
P(B)=P(A)P(B|A) +P(A,)P(B|A) +P(A,)P(B|A)
=0.5% 0.9+0.3x 0.93+0.2x 0.95=0.919

2
A, P(B|A) (i=1,2,Ih)
B P(A |B)
P(A 1B)
79 710 7.15
P(MB)=PI£?E|)3)= nP(A*)P(BW) k=1,2,h 7.17
ZP(A)P(BIA)
n n k

7.14 7.13
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P(A |B) (k=1,2,3) 7.3 P(B) 3 P(B)
045 0279 019 0.919
0.45 0.279 0.19
P(A|B) = 5=04897  P(A|B)= = ~=03036 P(A|B)=_—=02067
B P(A)=05
P(A,)=03 P(A,)=0.2

1 A B C 3 A B C

1 A B C 2 A B C 3

4 3 1 5 3

7 B 8 1 2

10 3 2
2 3 A A A A,

A, A

1 1 2 1 3 3 4 1

3 200 34 98 1 49 2 19 2
1 1 1
4 37 3 3
1 2 3 33
1 3 2
3
5 50% 65% 85%
6 60% 40% 20%
7 210 160 78
43

o O W N B



99

25

15

10

11

12

13

14

15

16

17

18

100 2001
2002
2001
2001
20% 18%
100
A B
A B C
3
3
4
4
6
6
6 3

2002

20

3
5%

0.3

4%

10

2%

2002
2002

12%

0.8 25

03 02 01

1 2 3 4

r

2001

0.4
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4 0.2 5
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0.75
A B
0.876
2
2
3
P(A|B) =
0.6
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P(X=x)=p, k=12L 8.1

8.1
X
L L
, Deomb oKL "
o P Lopo L
13 ” 13 ” 1 X 2
8.2
1
1 p=0 k=12L
2 Zpkzl
83 20 20 4000
120 400 1200 40 4
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X ” “ ” 4000 400 40 4 O
0 20
04000 400 40 4 0 [
HD.0001 0.0006 0.006 02 0.7933F
0.7933
84 10 3 7 10 2
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0o 1 2r
X X D7 7 i[
5 15 15%
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4 -04
8.3 8.4 8.1
8.5
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0P 4qrC
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0.6 X . E
6 04F
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n A k Pn(k) ‘ )



104
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8.9 1% 16
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8.11 80 0.01
1 1 20
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1 X 20 X
X>1 P(X >1)
X B(20,0.0) n=20 p=0.01 A=np=0.2
X  P(0.2) 2 P(X>D)=P(X= 2)=0.0175
2 X 80 X 3
P(X >3) X B(80,0.01) A=80x0.01=0.8 X P(0.8)
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X P(X =x)
P(a<X < b)
8.9
P(a<X< b) = P(X=x)= P,
x. L(a, b] x. L(a,b]
p, =P(X =x) 8.1
P,
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87 X X
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f(X) X
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2
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2
812  f(x=&=x) 0 x 3 X k

PA<X< 5 P(X< 1)

—_r' _rd 2 _,[B » 1 3D3_9
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7
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( ) ( )=

3
8.7
X=a X=b 8-1
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P(X=Xx)=0
f(X)
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1
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P(as X<h)=P(a<X<b)=P(a<X< b)=P(as X< b)

dx
P(X =x) = f(X)dx
0
f(x)
0
8.2.2
X
H 1 a x b
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Ho,
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X
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8-3
1 b-a
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| ! > X
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5
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X
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f(X)—Ep’ <<0 (A>0)
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8.3
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84
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8.11
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2 F(x) x
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4 P(X >x)=1-F(X)
8-1 8-4
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8.13
8.7
8.13 X U(a,b) F(x)
8.12
X<a (=00, X]
x= b 8-3 F(x) 0 1 a
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[0, x<a F(J
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F(X) 8-5 F(x) o‘ a b X
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X X Y =g(X) X
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X
8.14 X gL 012 L oyoxe
1 02 03 01 03F
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, 0L 0 1 4 25
1 02 03 01 03F

00 1 4 25C
B2 04 01 03F

X P(X=x)=p, k=12L Y =g(X)
Y, =9(x) k=12l Y P(Y=vy,)=p, k=1,2L
X X f (X,
Y =g(X) f.(y) Y F(y)=P(Y< )
f,(y) =F(y) PiY< y)
8.4
84.1
1
X
_(x=u)?
f(x)= e >0 8.14
(x) Tono ( )
X u o’ X N(u,0?)
2
8.14 8-6
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X
3 X=uto
4 1
- 1 O’ e
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» X
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5 o 7]
H M o 1
o o
3
u=0,0=1 X X N(0,))
X) =g ?
¢ (X \/—n
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8472
1
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X 8-7
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D(x)
1
x= 0 » X
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815 X N(0,1)

1 P(<X<2) 2 P(-1<X< 2
3 P(X|<12) 4 P(|X|z 18)
5 P(X<-13) 6 P(X|>a)=005 a
1 8.13 1
P(l< X <2)=@(2) - ®(1) =0.9772-0.8413=0.1359
2
P(-1< X £ 2) =@(2) - ®(-1) = ®(2) -[1- ®(D)]
=0.9772+0.8413-1=0.8185
3
P(|X|<12) =P(-12< X <12) = ®(1.2) -[1- @(L.2)]
=2x0.8849-1=0.7698
4
P(|X|z 1.8)=2P(X 2 1.8) = 2[1- ®(1.8)] = 2(1-0.9641) =0.0718
5
P(X <-1.3) = @(-1.3) =1- ®(1.3) =1-0.9032 = 0.0968
6 P(X >a) =0.025 @(a) =0.975
1 a=1.9
2
X N(u,0%)
v=2X"H N©y 8.16
g
8.16
P(X <x)= PR TH XTHE. Pﬁ(< XTHL X HL
ot o H ot
P(x)

8.16 X N@49)
1 P(X<3 2 P(0<X<16)
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P(X >1.7) 4 P(|X|>1)
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o
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<1F= 200(1) - 1= 0.6826
O
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13 30.”
X X
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8 2 3 X
3 2 3
5 08



116

10

11

12

13

14

15
16

17

N -

18

X X

10
0.2 ?
60% 10
6 6
12
1/3
0.1%
0.1% 0.05
4
4 2 3 3
6 6
X A=3
99%
0.2
0.04 2 0.05
100 kW Lh X 100
Bax(1-x)*, 0<x<1
f(x)= %)
80 kwWlLh 0.8
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